FR29FE MEEMARRERE —RIIFRXFE
(RA DER] (Bf - F)
%1 | E | s88 |ssvam| s | i
1 —REXE
1 BEE - HHE | BT RES 2,646,000 3,970,000 1,324, 0005 REBES | 0
2 BIRBHMAES 1,134,000{ 1,080, 000 54, 000|—mEmas 1.194%A
J(RANES 506,000] 496, 000 10, 000
2EZXSME | EXSME 120, 000 120, 000 O|#:a - 2¥amcs
gt 4,406,000 5, 666, 000 -1, 260, 000
2 HABEXRE
| BiEE - MBS | s AES 510,000{ 630,000/  -120, 000
2 BIRBRAES 90, 000 70,000 20, 000
2EZXEME | EXEME 0 0 0
vt 600,000( 700,000  -100, 000
3 RIRMBXIEERE
HEXIES  2,550FM (-150FM)
| A - HHE | HETHAES 7,082,000 5,411,000 1,671,000%%05% 4 QIFR (ST
HPXES 0FM (-990FM)
HEXES 450FH (+150FM)
2 BIREAAES 1,250,000/  601,000]  649,000[F¢ 5%, ToIR EEEM
HP X5 0FA (-110FM)
3 EREALHHS 8,286,000] 6,979,000 1,307,000{mrrs 68286Fm (+1,307FM)
2 EBxsmE | BXBNE 2,000,000( 600,000 1,400, 000[ S EEARES s
vt 18,618,000] 13,591,000 5,027,000
4 EFERHEERT
| BiEE - MBS | T AES 850,000{ 900,000 50, 000
2 BIREMAES 150,000( 100, 000 50, 000
2 EZXSME 1 EXEME 50, 000 50, 000 Ol - bit - THXESZARS
gt 1,050, 000| 1,050, 000 0
SEFAMEBERERE
| BiES - WS | BT RES 664,000(  702,000] 38,000
2 BIRBHRAES 117,000 79, 000 38, 000
3FELRFAES 1,300, 000] 1,300, 000 ] TN
2 BxBmE | EESME 200, 000 50,000/ 150,000+ »5< vt
2 0k yb37 BmE 70, 000 70, 000 0fay ro5
vt 2,351,000] 2,201,000{ 150,000
6 T DAIXA
1 20t | 1 zott 1,000 1,000 Ofmerns
gt 1,000 1,000 0
1 mifARREE
| AR | 1 s 8,475,463 8, 958, 463| 483, 000 JFTHERS - THPEAZ) RS
vt 8,475,463| 8, 958,463| 483,000
&t 35,501, 463| 32, 167,463 3,334,000




[(ZHDER) (84 )
-8 | E | 728 |wedmm| e | =
1 —BEXE
FIREE 3, 700FH
| —REXH 1 BER 4,300,000 4,408,000[ 108, 000| X5 Wem 5 PRBE 3. 226FH
AHERF 100FH
2 REIERINEE 40, 000 40, 000 0
3 MBEAK=E 130, 000 130, 000 0|T#x - EREEA
2 HeEEE 1 &5& 400, 000 500,000{ -100, 000|¥:#8 - EHamsE
2 EERE 100, 000 196,000 96, 000
3 AEHEE 50, 000 50, 000 0
4IRE - XBE 50, 000 150,000(  -100, 000
b EEERE 2,450,000 2, 360, 000 90, 000
6 BEHKSE 1,200,000 1,200, 000 Olsnmmarns
et 8,720,000 9,034,000 -314,000
2 HAEEXE
1 A BEIRES X 1 HKEHE 500, 000 600,000(  —100, 0007+ " 44" -iRi&
2 RE - BB 50, 000 50, 000 Ok w14 -
SEEE 50, 000 50, 000 0|z o7 v 14 -1 % B B8
gt 600,000{  700,000[  -100, 000
S ZIMMKRIEEXE
| RATXIBEEE 1 Bims 3,000,000 3,500,000 -500, 000|ELEDRATHE~ OIS
2 EMP REE 1 HEN 13,703,000 7,773,000( 5,930, 000[%2% FCOEAT R
2 EEE 1,730,000| 1,702, 000 28, 000|180 B H ZHRMER (5t - A -
3HA KTy | | BEE 800, 000 ol 800, 000[weBiHas
A HPEERIESRX |1 BIE 900, 000| 2, 175,000{ -1, 275, 000|H28# > D #g#s: : 900FF
2 BEH 0| 500,000 500,000
b HHEE % = 100, 000 100, 000 0
et 20, 233,000| 15,750, 000 4, 483, 000
4 EFREEHESXE
1 BARBEE 1 EFRHE 550,000  600,000[  -50,000[ ‘
- LD YHRBOBERS
2 EEE 350,000{  400,000(  -50,000
2 XmEE 1 &% 150, 000 150, 000 0
- - E - TRKEERREE
2 EEE 50, 000 50, 000 0
INgt 1,100,000| 1,200,000/ -100, 000
5 \MBEREXE
1 EFREEETHEE| | HMEE 250, 000 250, 000 0 fit)z;szimmawﬁwm
2 EEE 150, 000 200, 000 -50, 000 (& FeeaEmEs
2 FERBEEXE 1 #H & 530, 000 250, 000 280, 000 ﬁi?‘f;i Y iq;ﬁg%
2 EEE 430, 000 150,000{ 280, 000|&#:4 THmE 2 Y7 —
30k M7 B 1 #HE 500,000( 500, 000 0 ‘ ]
- NEEORY FIHEVSTDEEESE
2 ERE 900,000 900, 000 0
gt 2,760,000| 2,250,000, 510, 000
6 FliEE
1 FEE | 1 sma 2,088,463 3,233,463 —1, 145,000
gt 2,088, 463| 3,233,463| -1, 145,000
&5t 35,501, 463| 32,167, 463| 3,334,000




TRE29FEE HBERMFARIRERSE MEHRXESERISHNRETE
[UR A DER] (8t - [)
% - & | g | 35 |weresE| wme | S
| AR EXE
1 BES - BHS 1 BT AaES 4,950,000| 5,000,000  -50,000
2 EISEAES 500,000( 500, 000 0
INE 5,450,000 5,500,000{  -50,000
2 Z DU A
1 Z0ith 1 20t 1, 000 1, 000 OlEemnaz
INE 1,000 1,000 0
1 AR = 1 BTEAEMS 1,667,468 1,668, 302 -834
2 BIRREDBRME 3,500,000| 3,000,000 500,000 [FEEEH 3. 50T
INE 5,167,468 4,668,302| 499, 166
a3 10, 618, 468| 10,169,302| 449, 166
(ZHDE) (8t - )
% - & g | 3us |wereE| we S
| AR E X
Vseby BASBIREL| 1 BIRE 9,500,000 9, 000, 000 500, 000 [HesiiRiee @i a s
2 EBERE 3,000 3,000 e ES ¢
INE 9,503,000 9,003,000[ 500,000
2 FiRE
1 PiEE 1 FEE 1,115,468| 1,166,302|  -50, 834
INE 1,115,468 1,166,302  -50, 834
a3 10, 618, 468| 10,169,302 449, 166




TR0

TR AT B R R B =

BT EERIESEFIRFNZ TR

[UIRA DEB] (g M)
% - & B | 7o |wereeE| ww S
| B EEREER
1 Bi8% - HES | EEELHHE 3,390,000| 6,783,000 —3,393, 000 [#ErxgEns/4
2 faBHAES 7,306,000 4,313,000 2,993,000 [,;HHAES BRARS - BEA
SEIREMAIES 400, 000 300, 000 100, 000 |Ez&iEse
2EBXSME | REGEESNE 600, 000 700, 000 =100, 000
2 sEHEESME 260, 000 200, 000 60, 000
SHAHLEEESNE 260, 000 240, 000 20, 000
4 2BEME 150, 000 150, 000 Olpistsmas
INEF 12,366, 000 12, 686, 000 =320, 000
2 Z DI A
1 ZDih 1 ZDih 1, 000 351 649|EEFB%E
INEE 1, 000 351 649
3 AT HE
1 AR E 1 AR & 1,355,570 1,112,649 242,921
INEF 1,355,570 1,112,649 242,921
=k 13,722,570 13,799, 000 =176, 430
(X DE] (g M)
% - & B | 7w |wereeE| ww S
1 B EEREE
| HEEXE 1 EEEmE S 1,450,000| 1,459,700 -9, 700 | &HHEs phasems £
2 EBERRE 150, 000 150, 000 O|eemiRs - 17 (4-5-BHEIRE
3SHME 450, 000 550,000  —100, 000 B4t - s
4 [RMHE 315, 000 315,000 0 |s=EmHEH 1
S5HETRE 250, 000 250, 000 0
2 HEEEER 1 37 44-5- - 7 ERq¥—#a5| 7,203,000 7,203,000 0[5 +rt 2@
2 mERE ) —RE&E 2,000, 000] 2,205,000 -205, 000
3 WiEEE 100, 000 100, 000 0
4 =& 515, 000 515, 000 OExza2 - M@t - T3t
b EEHKE 589, 000 589, 300 -300|=m%%z
INEE 13,022,000 13,337,000 =315, 000
2 P&
1 FliEE& 1 Fis#& 700, 570 462, 000 238,570
INEF 700, 570 462, 000 238, 570
=1 13,722,570 13,799, 000 =176, 430




